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                                    ASSIGNMENT – (COMPILER CONSTRUCTION)

                     GIVEN GRAMMER:-

                    S’->S

                    S->AaBb

                    S->BbBb

                   A->epsilon 

                   B->epsilon 

              To prove given grammar is not SLR-

           SOLUTION:-

            calculation of  first and follow of non terminals :

        first of  S’ and of S = {a,b}

       first of A and B ={ epsilon}

       follow of S’ and S ={ $ }

       follow of A and B ={ a,b}

       calculation of set of items for SLR grammar:

     I0:

   S’->.S

   S->.AaAb

   S->.BaBb

   A->.

   B->.

  I1:

  S’->S.

   I2:

   S->A.aAb

   I3:

   S->B.bBb

   I4:

   S->Aa.Ab

    A->.

  I5:

 S->Bb.Ba

 B->.

 I6:

 S->AaA.b

I7:

  S->BaB.b

 I8:

  S->AaAb.

I9;

S->BaBb.

Goto graph:-

          S

(I0)----->(I1)

          A                          A               b

(I0)----->(I2)-----(I4)------->(I6)------->(I8)

         B                 b                   B                  b

(I0)-------->(I3)--------->(I5)--------->(I7)-------->(I9)

 States

           a        b       $       |       S     A      B

----------------------------- |----------------------------

0       r4,r5    r4,r5           |       1     2      3

1                          acc      |                       

2       s4                           |

3                  s5                |

4         r4       r4               |              6

5         r5       r5               |                       7

6                  s8                |

7         s9                         |

8                            r2      |

9                            r3      |

-----------------------------|-----------------------------

 Here transition from state 0 with terminals a and b gives reduction r4and r5.

Which is not possible in SLR grammar.

Hance not SLR grammar.

